KAUABE - FEERYLERREREE ST 7 b UAERER

Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 380

=50

SAlBE#E

D. fortii: 0

Alexandriumspp.:0

D. acuminata: 30

il

D. fortii: 0

Alexandriumspp.: 0

D. acuminata: 0

Alexandriumspp.:0
D. fortii: 0
D. acuminata: 0

A=Y

® ——

-
=

Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 0

oy

EELE

Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 0

A& H:20204£7H13H

*®:SEIHI3E)DRAEHR

BE75 9 HIE# (cells/L)
AEHh = 7K KR B Alexandrium s Dinophysis e
(°C) op. D. fortii D. acuminata F DD Dinophysis

. Om 18.21 27.11

O3 5 1678 3297 0 0 380 0
Om 17.83 23.44

@fAH 5m 16.92 32.99 0 0 30 0
10m 16.11 33.33
— Om 18.91 20.99

@=ViR 5m 16.92 33.14 0 0 0 0
Om 17.42 3057

@A FE 5m 16.63 33.27 0 0 0 0
10m 16.58 33.32

®ER 10m - - 0 0 0 0

®XiR 10m - - 0 0 0 0

X Alexandrium spp.|3EWERE. D. fortikD. acuminatalE FTHRIEEEDRETS I8 T,
KTV HBEHITKEO~10 m(DEQIXEDE) DIRFKRDT—H2TT,
MREDFAEIFTA20BIZEEFETY,




Alexandrium spp. (cells/L)

Alexandrium spp.

gﬁﬁﬁ 70,000 r

O |QBKE|O=VE [0B#E  |OFE |OAR 1%
4878 280 130] 160 50 0 60,000 1 .
48158] 10940 150] 30 0 0 -] 5 s0.000
4B218| 6030 300 20 50 - - %%40,000 15
4A278| 41,130 370] 250 70 o  700| =
5878| 23760 1,310] 790 950 - i 10
5A128| 9230 510 1,900 230 - 50[  20.000
5A18@| 710 2,350 680 1,920 -| 66,240] 10,000 >
58250 60| 130 210 3930 170 0 0 . - 0
6818 100 0 30 50 20 0 m @ o @O o o O
6H8H 90 0 0 0 0 0 Tz § =z § & =«
68158 0 0 0 10 0 0
opmel wl ol oL of oL o[ e caks ok -e-aena
7H6H 0 0 0 0 0 - \ L
JA13E 5 0 5 0 5 BEE BOXR —EEKE
= D. fortii (cells/L) D. fortii

DEE [QBAE|O-VE|0EHE  |omE |oAR | |
4A7R 0 0 0 0 0 _ 600
4H150 0 0 0 0 0 250 |
4A218 0 0 0 0 - | & 200 |
4A27R 0 0 0 0 - ol ®
5A7H 0 0 0 0 - 173
58128 0 0 0 10 - 120 200 ¢ h
58180 0 30 680 40 - of 100 | X\
582508 0 0 90 160 o] 380 - s 9 (;)?;’5;;&.._,,
6A1H 10| 100 20 0 0 0 m m 1 = = - -
6H8H 40 60 10 30 0 50 o o o o o o e
68158 0 20 30 50 o 100 N ” N °
Aol o [ o [ o[ o | R eeewn oo
IR6H 20 0 0 10 20 -0 D GEE ®KR
7R13H 0 0 0 0 0 -]
- D. acuminata (cells/L) D.acuminata
HER 3,000 -

DHET  |QBHE|QZVR |DEHIF OFEE |OKR
4878 20 0 0 0 0 o #°% |
4A158| 970 10 0 0 0 -| $2.000 |
4A218 240 0 0 0 - -1 &
4A278]  100] 30 0 0 0 of E25% |
5A7A| 130 0 0 0 - -] #1000
5A12H| 200 10 0 0 - of !
5A18H| 1,030 60 20 40 - -
58258 140 40 80 260 10 160 0 E—a-u- “‘: AR S
6818 850 260 380 90 10 0 - - = 3
6A8A| 350] 740 90 160 o 140 - -
68158 600 380 110 140 10| 230 -
6F228| 2880] 4200 10 o] 10| 210 R —e-HE S=vR
65298 460 50 0 0 0 0 -o-DEH iR Rk ®xiR
7H6H 30 20 0 0 0 0 — K
78138 380 30 0 0 0 0

- 15

- 10

KB (GEHET) [°C)

- 25

- 20

Kig (& #H ) [°C)

N
w

N
o

= =
o (%3]
IKE CE ) [°C



ORI E R ORI BT 5 SR £(2018~2020 4F)

100000
—-8—2018F
10000 =O=2019
===2020F

1000
Z 100
S
=
= 10
g
1 : &
& & &
N Q Q o o
N ~ A
’b% b?‘ %Q‘ (OQ. ’\%
100
D.fortii
—-@—2018F
=O=2019
— == 2020
5
@ 10
=
=
g
1 (EPE 2,
'\,“/e
AT
10000
D.acuminata
1000 ¢
>
@ 100
=
=
% 10 —@—20185F
=O=2019 5
=f==20205F
1 1 @ 1
Q> & & & @
2 & L 6 A



